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Cluster: 0076 ptr; resid: 0.38; r/c: 23/65

x.range

upstream meme PSSM #1; e=820
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upstream meme PSSM #2; e=14
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1152734898

10350

16295

2542
29821

32809

35406

35464

35595

35746

36180

38066

40603

42613

44703

45413

48986

49418

49936

50441

7666

8866

string −500 −400 −300 −200 −100 −1
35595−0.06
32809−0.07
35464−0.31
49418−0.57
38066−0.68
11527−0.74
35746−0.95
48986−1.00

2542−1.01
45413−1.02
34898−1.29
36180−1.30
16295−1.31
29821−1.44
49936−1.70
40603−1.77
10350−1.89
50441−1.97

7666−2.10
42613−2.24
44703−3.05

8866−3.08
35406−4.75

log10(P) upstream meme1 2 log10(P.clust)=−1.49; 23 seqs; 23 uniq
c(0.5, 2.5)
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